EARAROBEEIERT — 2 N— IBISH —F

2016558298 (B) 4B1AEA4H

M 3m— 68 Y5% 3% ‘ x4 /™ ‘ el — |4 (&) 13000 &

[A~&E£] 1 7% :150,000 @ ~ 23%&:3500 M0  3#&:14,00H  43%:8000 8  573&:5000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
ER: :23. -1-1- . — IHAEA (1£8)
155 2XETEL 3 o= 1(2_3)2 1-1-1-1 | 38.9 1 :3_210) nEs "
RTIRRAFTEN BRAFZTE-L ARET2—T7—L
S5 A i 3 | AlllER 1:23.3 5-5-4-3 |38.5| — 2 437 | AIEX (HEB)
21717 FTHZE Y — 54.0 (172) (-4) HiE—F
R:FHYTILRE BiAFIvEU-—X KBS
S N B 3 | BEARE 1:23.8 4-3-3-4 [39.2| — 3 46 | EEM ((£8)
3B o | TFETN- £52.0 172 (-5) |ERIEE—2
AT M F T —F— K BA—ITARY— =R EH
N G 4% 3 | EBERE 1:23.8 2-2-2-2 [ 39.3| — 4 43 |WWHEBA (£5)
4|8|g|AN—X P F— 54.0 (NF) (-1) |BFEB3
Lixfavk—-5— B:EF EBH# fE*
N FRAFIR :23. ~7-6- . — KHAE (BB)
5lglog| TT¥>ULt # 3| HE 1(/%%3 6-7-6-5 | 38.4 6 :1+367) ek i
RwYUETyEk BI-YlRUK—H SEHIS
S . N il 224, -9-9- . = INFEX (1£8)
6N 4| HEN)—LTy "8 w0 1<244>5 reeT |98 ° (4_2;) e -
R:TF9r8%Y—F Biai—tAdvM=— RS
N . R . — 45— — hEFE ((£%5)
M - YL T i 3 ol 1.(255>.4 3-4-5-6 | 40.6 7 ;1_9;2) et i
L:T77NTTT BAAINERZX Nipse]
. S ft 3 | WTHE 1:25.8 7-6-7-8 | 40.4| — 7 456 | RIIEX (1£8)
gl1[1|7714Ty b= 540 @ (5) | (B J P NEH
R:O-YX12214 B:571—7 FRKBREB S
4 3 | HHEIEA 1:26.1 8-8-8-9 |39.7| — 9 376 | WHTEA (ER)
] 3 K FTEA/7V 5.0 A 1/2) (+5) | ATERAY
L:a—T>J)> B:a2A4XxINR- ¥H fEE
® I—F—@EBIERL
13—7F— 5,8,6,2,7,9,1,3,4
Ao=5"= 5,8,2,6,7,1,9,3,4
T =35r= 5,8,2,7,6,9,1,3,4
43—+ — 5,8,7,2,9,6,4,1,3
[ RN
B 5 180M 794K 5-7 120M & 5-7 320M &R 2-5-7 440/
# B 5 100 2-5 230 B E 5-7 240 EE 5-7-2 1,080
7 110 2-7 210M B H 5-7 440M
2 120M

ABICOVWTRDTEEERROODE. TR LIV,




